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10. Find the Taylor series for f(x) = sin(2x) centered at 2. (10 points)

Find flf— (2 x 5 points)
dx

- sin’ x

@@  f(x)=(6x+1)7" ()  flx)= —
cos(3x +2)
Evaluate the limit. (4 x 5 points)
(@) limx"~ (b) lime “(Inx)
5vn +3 = 2
¢) lim d —_
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Evaluate the integral. (4 x 5 points)
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Find '/ for f(x)= ( 5 points)
dx’ Ox+n) P
.odf . . .
Find i if 4(cosx)(siny)=1 . (5 points)
X
Find a Cartesian (15 f442) equation for the polar (#i /3% 43) equation
r =3sind. (5 points)
p] 2
If f(x,y)=sin(x-ay)+(x+ay)?, show that _8_4 =a’ ?—2[— (5 points)
oy” ox
Sketch (fi#&) the graph(if]) of f{x) = +/x — 2 and its inverse function (FRED
using the same coordinate (FEZ) axes. (10 points)
Evaluate H xydA,D is bounded by y =0, x=1,and y=x?.(10 points)
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